
Module 5 Lesson 2 Assignment  Name:______________________________ 
 
Simplify.  Assume that no denominator is equal to zero. 

1) 
଺ఱ

଺ర
 

 

2) 
ଽభమ

ଽఴ
 

 

3) 
௫ర

௫మ
 

 
 

4) 
௥య௦మ

௥య௦ర
 

 

5) 
௠

௠య
 

 
 

6) 
ଽௗళ

ଷௗల
 

 

7) 
ଵଶ௡ఱ

ଷ଺௡
 

 
 

8) 
௪ర௨య

௪ర௨
 

 

9) 
௔య௕ఱ

௔௕మ
 

 
 

10) 
௠ళ௡మ

௠య௡మ
 

 

11) −
ଶଵ௪ఱ௨మ

଻௪ర௨ఱ
 

 
 

12) 
ଷଶ௫య௬మ௭ఱ

ି଼௫௬௭మ
 

 
 

13) ቀ
ସ௣ళ

଻௫మ
ቁ
ଶ

 

14) 4ିସ 
 
 

15) 8ିଶ 

 

16) ቀ
ହ

ଷ
ቁ
ିଶ

 

 
 

17) ቀ
ଽ

ଵଵ
ቁ
ିଵ

 

 

18) 
௛య

௛షల
 

 

19) 𝑘଴(𝑘ସ)(𝑘ି଺) 
 
 

20) 𝑘ିଵ(ℓି଺)(𝑚ଷ) 

 

21) 
௙షళ

௙ర
 

 
 

22) ቀ
ଵ଺௣ఱ௤మ

ଶ௣య௤య
ቁ
଴

 

 

23) 
௙షఱ௚ర

௛షమ
 

 
 

24) 
ଵହ௫ల௬షవ

ହ௫௬షభభ
 

 

25) 
ିଵହ௪బ௨షభ

ହ௨య
 

 

 

26) 
ସ଼௫ల௬ళ௭ఱ

ି଺௫௬ఱ௭ల
 


